Al

A

SA FRRE
M =XE &5 2 =Y X HH(LSEEF/UHSnsS - 2[/SIIH)

Chol: DOEXE ZA(FRASHIH) (cre): 2igl)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
PPN} 8,621,678 10,751,306 A2,129,628
Y 2E & =28 N HE 6,779,836 8,987,155 2,207,319
SYFNYE 2 (FUHESERA) 3,912,413 5,039,513 1,127,100

SAIF=XE AEA 200,000 200,000 0
401 Al HI L S CHYI 200,000 200,000 0

01 Al 198,560 198,560 0
OgAl F=XE A&
200,000,0002%99.28/100 198,560
03 Al&=THHI 1,440 1,440 0
OYAl =X A&
200,000,000& +0.72/100 1,440
SEFTUE ANEAE 70,000 1,520,000 21,450,000
401 AIEHIZL S0 70,000 1,520,000 21,450,000
01 Al£H| 69,460 1,514,600 A1,445,140
FHALEXNSE ARIFINE =4
10,000,000& * 14! 10,000
Odted & HFRHAE B EFR7E LI
10,000,000 * 14} 10,000
OLAIY3 SSFIE 0ISA BOAIE &
N 50,000,000 98.92/100 49,460
03 A2 20 bI 540 5,400 24,860
O=4A 83 SEFIY 0l H2AE &4
Xl 50,000,000& *1.08/100 540
W& F=XHE 20| EXA 12,000 12,000 0
402 QI2tXH= 01 ™ 12,000 12,000
01 QU2 XH2 AL E R (XHHITH ) 12,000 12,000
oWl & =xt& 2| XI& A
3,000,000 *40H 2= 12,000
SHES 202 SEFUE(ER) &= 1,800,000 1,800,000
401 AlEHIZL S0 1,800,000 1,800,000
01 Al&H| 1,793,520 1,793,520
OSd Zd0ts SEFIE A=
1,800,000,000& *99.64/100 1,793,520
03 Al2 = THHI 6,480 0 6,480
Osd R&0te S8+ M=
1,800,000,000& *0.36/100 6,480
Gk ])e] 1,530,413 3,307,513 A1,777,100
801 OilHIH 1,530,413 3,307,513 A1,777,100
1&gl 80,413 107,513 A27,100
Oodisl 80,413,000 x 14 80,413
BUERES 1,450,000 3,200,000 A1,750,000
OUERES 1,450,000,000& *14] 1,450,000
SOHH HE2Ll SEFIE =4 300,000 300,000
401 Al HIZL 2 CHEI 300,000 0 300,000




SN ERD
M =XE &5 2 =Y X HH(LSEEF/UHSnsS - 2[/SIIH)
SERE1ES R FSES P EE TR (crol: 1)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
01 Al£HI 297,840 0 297,840
O&8IB! J22l BYFHE X4
300,000,0002%99.28/100 297,840
03 A2 2 0HbI 2,160 0 2,160
OMMDt D22 BLFXE T4
300,000,000& +0.72/100 2,160
FXE g2 (FUHESERA) 2,110,846 3,297,096 1,186,250
=g =24 1,750,846 1,356,049 394,797
101 2l244| 117,435 112,946 4,489
04 D12 K22 NSE 117,435 112,946 4,489
OdtEF=Xt-18 T 68,569
ool 88,0802 +2 x5 x50 F 45,802
S 88,0802 52245527 9,161
cRYaR4LY
88,0802 x2EH 252 x150fk 6,606
cAzlEE= 7,000,000 +14] 7,000
OH=A T8 T 48,866
oQI2Y 83,0802 x365! 32,150
oFE4Y
(52,850 *52==+ 1 )+(70, 47024 525+ 1Y )
6,413
oxdI22ed 88, 080 x252 x150% 3,303
oAREEE 7,000,000 *14] 7,000
201 ger=2dd| 49,030 48,460 570
01 AbR 22l 23,790 23,220 570
Odgt==H| 2,520
oot & HFA - A HBEFTTE S
2 =0 NA 80,0003 »23| % 1204 2 1,920
SQIZIAIE & HEA HEFXE 3R
cIES MH 300,000 22 600
Ogx=z 21,270
oSHFUE & HFA - ML HE =X
28 ox Az
1,500,000 *4=2 7| 6,000
oQtatEs Al =XHE 22X RS
7,500,000 * 14 7,500
o=l YAl =it 2 ==
6,500,000 14 6,500
osH FEFNUE FAY 2XN UFRE
500,000 *14] 500
SU==EL2H= AEA FXA SEF=IHE
NS L= 770,000 *14] 770
02 =294l 25,240 25,240 0
O332= % HAl 18,640
oEZEFAE H otFFAE IV Mg
50,0002 x110H~ 128 6,600




SA FRRE
M =XE &5 2 =Y FEX HH(LSEEF/UHSnsS - 2[/SIIH)
ool XA SNBR(ZHRSESH) CERL)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
CTYEXT U SIAFITE OV SAZ
70,0002 «11CH*12& 9,240
oA MM 0B BEFXE et
I & SRS 700,000 404 A 2,800
OAlZ EHIs Xl 6,600
oZEFAE & otFF=x2= TV =X 2
= 50,0002 «11CH*12& 6,600
308 AR HAMSOIA 1,584,381 1,194,643 389,738
13 SIS USHE &H S AL 1,584,381 1,194,643 389,738
O3gF=xy 289 1,584,381,000& x 14 1,584,381
=& A2ES FH 360,000 1,941,047 A1,581,047
401 Al HIZ S CHEI 360,000 1,941,047 A1,581,047
01 Al2H| 359,100 1,941,047 A1,581,947
OBYEXF AE2 B
200,000,000& x14] 200,000
O3EFiy zlad NSit 88 =X+9
=Py 100,000,000& +99.1/100 99,100
Ot &2 SEFIY REE4 Ade &
N 50,000,000& *14! 50,000
Ot QHENIS FXE L (FLUEO)
10,000,000& * 14! 10,000
03 Al& L CHY| 90 0 900
OBYEXE HBA VEX HE FX7
&X 100,000, 0002 *0.9/100 900
S FIXN SE(FNESLEIA) 756,577 650,546 106,031
T HEE 2 100,980 94,210 6,770
101 28] 100,980 94,210 6,770
04 JIZtHI2Z2 RS2+ 100,980 94,210 6,770
O=gXt 100,980
ool 88, 080212 +52U x50 45,802
oxgsy 88,0802 x224x50% 9,161
cgYIRAY
83,0803 2 x25& *150f% 6,606
oARIEE = 6,000,000 * 14 6,000
SRS 25,000,000 *14| 25,000
oSZaA| 8,000&x2H 152« 123 2,880
o Ul=H| 150, 0003 x2& »23] 600
SNEIEEERS
17,1202 %2E *12A1 2t 123 4,931
T8I =X+ Ald= 3Hl 655,597 556,336 99,261
201 Ler2d| 539,597 301,336 238,261
01 At22teltl 98,129 35,848 62,281
OZelE%H] 98,129
o2l X AMULEAAYE R 2=
860,670 * 12 10,329




FA FRRE
M FAE &5 2 =28 FEXN HS(WSUEF/USLS - SFRSIIHY)
ool 28 =X OA(FHESUN) (crel: ®el)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
CIEHH AT CAAY S 2
ES 650,00024+ 122 7,800
oROIHZIRHHQ) ALY 2K 89
80,000,000& *14! 80,000
02 35244l 441,468 265,488 175,980
OZ30= & HMAl 189,720
o=2d FIX RAUBIMHRIA)
= 55,0003 *9 SJHA*QE 62,700
o=l FIX RAULSIMCt SUE
85,0003 %950 -+ 123 96,900
SAIM LEAIAER(MS) S&E
15%%50,00021 < 123 9,000
COSXT S YUEH LD SAI2
40,0002 #3200 A+ 122 15,360
oRIEXel SUE H2I| SIS
60,0002 +8CH* 12 5,760
OAlZ EHIs Xl 251,748
o=2Y FIX RUHBIHHLFA) &
A 2= 50,0002 *91CH*12& 54,600
o=2Y FIX SBAAH(XEE) R
= 160,000& +8LH+12& 15,360
SHIHAIAE R 2
82,000 =20 =122 1,968
CNSHIPANAH(AZEYN) X 2=
1,195,000& «12& 14,340
CNSHYAAH(SI=H0_AH & 2242
) 2X 2= 415,000« 123 4,980
oFAEX XY AlE2 EHl 2 &X
100,000,000& * 14! 100,000
oSN 22 FEXSA ANEE |FANES
210,000 5074 2 10,500
oFHI AR I WM S FH
50,000,000& * 14 50,000
206 =4l 6,000 12,000 6,000
01 = Hl 6,000 12,000 26,000
OF X EFHI(CCIVALE) A2H 257Y
6,000,000 * 14 6,000
401 AlZHIZL S0 85,000 243,000 158,000
01 Al£HI 85,000 243,000 158,000
O=gxtelgttts 088 OVt M& & W
Al 3,500,000 * 1090 £ 35,000
O=Y=gXt XY d)| S8 FH &
=Rkl 15,000,000 * 14 15,000
OSY=FI}t RS AIAH(CCTY) &A
35,000,000 *1JH A 35,000
405 THatF S| 25,000 25,000
01 AL =S F =HI 25,000 25,000




M =X
M FXE &2E Y EY FELN X (USYEFR/UELS - ERSIIEY)
©elr 29 =L dH(FHESLES) CERE)
- _ SiE
2A-Z3H - d2A(3) - HRAY - BES Off &2 OE:MEE Husz
OSYFEI} 0lSA(XH&HE) S AIAEI(CCT
V) 7 25,000,000 1K 25,000
AH2S LU (FUHAE D) 1,841,842 1,764,151 77,691
IS (FXESHSIA) 1,512,776 1,392,772 120,004
ol @Al 1,512,776 1,392,772 120,004
101 21244 1,231,752 1,241,748 9,996
03 2RX(RIHL)2EXNE 4 1,231,752 1,241,748 29,996
OsY =F = 1,180,540
oJ22(1628)
2,469,650% %232 x 122 681,624
CAAL2R+E(16S5)
15, 14021 %232 x20 Al 2+ 122 150f% 125,360
cHRSH(1652)
121, 1202423210 27,858
oRU2LLE(1653)
121, 1202 x23H *202 * 150% 83,573
ocHEFIHI(1658)
2,469,650 *23% *120% 68, 163
o¥2+E(1653)
2,469,650 *23 % *50%*23 56,802
onFSY 91,080
— A=l 130,000 x23E « 122 35,880
-z 200,000 x232 122 55,200
oX Rt 80,0002 *23 * 122 22,080
oltESE 2,000,000& * 122 24,000
OBYFX&E 22ld 51,212
oJI23(178E JIE)
2,521,800 1+ 128 30,263
SARIZRAH
15,4102 %1 H*20A| 2+ 128 *150% 5,548
SLPEss, 123,280 12+ 10 1,233
SENERSS
123,280 %12 %202 *150% 3,699
o2 E(17838 JIE)
2,521,800 * 1 & +50%+23 2,522
SInEEy=, 3,960
—FHZA| 130,000 x 1212 1,560
-xZag 200000241+ 122 2,400
oX Rt 80,0002+ 1 * 122 960
cHEZIMI(17E8E IIE)
2,521,800& *1Z*120% 3,027
304 AZRYZES 281,024 151,024 130,000
04 RI(RIHY)ZE2N BEEREZ S 281,024 151,024 130,000
O82& 1EEE BE=
36,926,000% *14! 36,926




2A:

]

ESNPNE=S
B HEeAAL(FAN) (OIE/IIE)
Cel: oS ol (FRRSE s CEE)
S HB . S(BH) - MRAY - BAS Ofl b T MimE=)
022X =0A3 L3
53,600,000& *1A! 53,600
OB2X 2WALLH LY
40,498,000 x 14! 40,498
O=R2 g3 150,000,000 & = 14! 150,000
|[2HY(Z=XNEEYES|IAH) 329,066 371,379 N42,313
Jl2&l 329,066 371,379 N42,313
201 B2 AHH| 254,798 288,219 N33,421
01 AFR22tel ] 147,798 163,219 A 15,421
Ogbt=24| ZHH A
59,715,000& x 1A 59,715
O3 d| SHH A 48,393,000 * 14! 48,393
OLl=SH| SHAA 135,000 37 H 23| 9,990
OAl SAF RDEXEH HE ACIX Xtz
330,000 x2CH »45 29,700
02 32244l 107,000 125,000 A 18,000
O3322 % MA SHHA
72,000,000 & = 1A 72,000
OXtat8y| S HH A
35,000,000 x 14! 35,000
202 0481 74,268 83, 160 A8,892
01 2L H| 62,748 69,720 6,972
O=LH0H| SHH A 62,748,000 x 14! 62,748
02 XA b 11,520 13,440 A 1,920
O MY SHH A
160,000& 6= x 128 11,520




